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FIKE | E@E (1398 | 1| 2 ki | A (11502 | 1| BRK B | E@E | 114.04
s BUE |fES™II[14.03 | 2| K Mk | #EE [10952 | 2| B BEX |/MASETE| 110.88
AN E FRET |14.09 | 3| & 0 | FEHI (10692 | 3| ZHE KBE |EEEE| 109.80
BF KiE BAET 1412 | 4 #)II = [WF9EE|105.71 | 4[R#& JRABA|BFIEE | 108.80
EEE EH BE |14.25 | 5| /Mg EFE (1BF9EE| 10509 | 5| FII BHE | WE | 106.72
B1F BEX |/MABTE|1433 | 6| BA B | EMEE (10439 | 6| FHLE B | AL | 105.79
FII OBREFD | RSP [14.34 | 7| ZEE R |/MAETE|103.22 | 7| KB E#|/MRETE| 105.70
KO B =M (1439 | 8| O #oth | D3F |103.04 | 8| HF FEiK |&EXZE| 10557
R EH | MRE (1440 | 9f KB RE |RIFEMT[102.89 | 9|FT AfEth| LR | 105.24
FEE BE | 54t 1443 | 10| Lf% BREE [/MAETE[101.78 | 10| K #Eth | BRI | 104.23




